Total Charges:

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

tation and	d Location:			Date:	Artist Control
Meno «	94.9			9/19	/19
Dor	noun Fr	emin			
	of: Ca	900	a -		, a legall
	late of the	Back	1 1.	^	
rty for the off	- 1	to PR		tative	
the	/ ^	a.	Paris	h	(0),
	eld on:		04/14	2,201	G,
	est station time as fo		264 1	1	
o nereby requ	est station time as it	mows.	<u> </u>	1	
	Time of Day,	Days	Class	Times per	Number
Broadcast Length	Rotation or Package			Week	of Weeks
Broadcast		Days	Class		Numbe

For programming that, in whole or in part, "commnational importance," list the matters below:	municates a message relating to any political matter of
,	
I represent that the payment for the above describ	bed broadcast time has been furnished by:
and you are authorized to announce the time as pa I represent that this person or entity is either a legal committee/organization of the legally qualified ca	gally qualified candidate or an authorized
The name of the treasurer of the candidate's author	
This station has disclosed to me its political adver and discount, promotional and other sales practice	ertising policies, including: applicable classes and rates ees (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OF RACE OR ETHNICITY IN THE PLACEM	'E OR PERMIT DISCRIMINATION ON THE BASI MENT OF ADVERTISING.
To Be Signed By Candidate	e or Authorized Committee
9-19-19 Date	Signature
To Be Signed By Star	tion Representative
Accepted Accepted	Accepted in Part Rejected
Joe Joseph Joe Signature Joe	e Darden GM Printed Name Title

WGUO GUMBO 94.9 PO BOX 20099 HOUMA, LA 70360 USA

Donovan Fremin

Advertiser ID: 811

Amount Paid_

811-00002-0000	9/30/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

811-00002-0000

O 9/30/2019

ï

Donovan Fremin State Rep Candidate Dist 55

Purchase Order Number:

Est. Number:

Co-Op:

Description: Candidate-LA State Rep Dist 55

Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
9/25/2019			wguo		08:16:00 AM	09:16:00 AM	03:30:00 PM	05:16:00 PM	6	\$40.00	\$240.00
9/26/2019	Thu	1:00	wguo	06:46:00 PM 06:15:30 AM 05:45:00 PM	08:28:00 AM	09:29:00 AM	03:16:00 PM	04:15:00 PM	6	\$40.00	\$240.00
9/27/2019	Fri	1:00	wguo	06:28:00 AM 06:15:00 PM	08:45:00 AM	09:28:00 AM	03:46:00 PM	04:46:00 PM	6	\$40.00	\$240.00
9/28/2019	Sat	1:00	WGUO	07:28:00 AM	08:29:00 AM	09:18:00 AM	09:46:00 AM		4	\$30.00	\$120.00
9/29/2019	Sun	1:00	WGUO	07:16:00 AM	08:16:00 AM	08:46:00 AM	09:45:00 AM		4	\$30,00	\$120.00
								Quantity		26 Total	\$960.00

Quantity Total Due 26 Total

\$960.00

\$960.00

Donovan Fremin

Advertiser ID: 811

Amount Paid

811-00002-0001	10/31/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

811-00002-0001

O 10/31/2019

Donovan Fremin State Rep Candidate Dist 55 1426 Tiger Drive Thibodaux, LA 70301

Purchase Order Number:

Est. Number: Co-Op:

Description: Candidate-LA State Rep Dist 55

Salesperson: STATION LIST 1, JOE

Date	Day	Length			- G4				Qty	Rate	Total
10/3/2019			WGUO	06:45:00 AM 04:15:00 PM	07:46:30 AM	08:28:00 AM	09:15:00 AM	03:45:30 PM	8	\$40.00	\$320.00
10/4/2019	Fri	1:00	wguo	06:15:30 AM	07:15:30 AM	08:28:00 AM	09:28:00 AM	03:28:00 PM	8	\$40.00	\$320.00
10/5/2019	Sat	1:00	WGUO	07:47:00 AM	05:45:00 PM 08:31:00 AM		09:30:00 AM		4	\$30.00	\$120.00
10/6/2019			WGUO	07:17:00 AM					4	\$30.00	\$120.00
10/9/2019			wguo					05:18:00 PM	6	\$40.00	\$240.00
0/10/2019	Thu	1:00	wguo		07:28:00 AM	09:45:00 AM	03:45:00 PM	04:28:00 PM	6	\$40.00	\$240.00
0/11/2019	Fri	1:00	WGUO	06:28:00 AM 06:15:00 PM	07:46:30 AM	09:17:00 AM	03:45:00 PM	04:45:00 PM	6	\$40.00	\$240.00
	l							Quantity		42 Total	\$1,600.00

Total Due

\$1,600.00

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

check applicable FEDER	e box) AL CANDIDA	ΓE	STATE/LOCAL CANDIDATE					
	nil Themselves v, Federal Can							
Station and	Location:) Houn	na, la	Date : /0 -	4-19			
I,		Donovan	FREMIN					
peing/on behalf	of:				, a legally			
qualified candid	late of the	Rei	PUBLICAN		politica			
party for the off	ice of:	STATE R	P - 55T	DISTRICT				
in the		Pa	IMARY					
	eld on:							
do hereby requ	est station time as f	ollows:						
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks			
:60	6A-7P	M-F		30/	1			
Total Char		\$1890		STATION				

For programming that, in whole or in part, "communicates a message relating to any political matter of national importance," list the matters below:
I represent that the payment for the above described broadcast time has been furnished by:
CAMPAICN TO WEST DONOVAN FREMIN
and you are authorized to announce the time as paid for by such person or entity. I represent that this person or entity is either a legally qualified candidate or an authorized committee/organization of the legally qualified candidate.
The name of the treasurer of the candidate's authorized committee is:
· lelissa Sates
This station has disclosed to me its political advertising policies, including: applicable classes and rates; and discount, promotional and other sales practices (not applicable to federal candidates).
THIS STATION DOES NOT DISCRIMINATE OR PERMIT DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY IN THE PLACEMENT OF ADVERTISING.
To Be Signed By Candidate or Authorized Committee
Date Signed By Candidate of Authorized Committee
To Be Signed By Station Representative
Accepted
CHRIS DIEDRICH ACCOUNT MANAGER Signature Printed Name Title

AGREEMENT FORM FOR POLITICAL CANDIDATE ADVERTISEMENTS

	ail Themselves w, Federal Can				
Station and	Location:			Date:	
Ken	+ WOUD	Houn	na, LA	10	-11-19
I,		Donov	AN FREM	1,∼	
eing/on behalf	of:	=			, a legall
ualified candid	late of the	RÉ	PUBLICAN		politica
party for the off	ice of:	STATE	Rip = "	SSTH DISTRI	cT
in the		Pri	MARY		
election to be h	eld on:	OLT	UBGR 12	2019	
do hereby requ	est station time as fo	ollows:			
Broadcast Length	Time of Day, Rotation or Package	Days	Class	Times per Week	Number of Weeks
iles	7A - 7P	SAT		10/ SATION)
			t.	7,41,1010	

For programming that, in whole or national importance," list the matt	r in part, "communicates a message release below:	lating to any political matter of
I represent that the payment for the	ne above described broadcast time has	been furnished by:
CAN	IPAICH TO ELECT DON	OVAN FREMIN
	ce the time as paid for by such person of ty is either a legally qualified candidate ally qualified candidate.	
The name of the treasurer of the c	andidate's authorized committee is:	
	s political advertising policies, includi er sales practices (not applicable to fe	
	DISCRIMINATE OR PERMIT DISC THE PLACEMENT OF ADVERTIS	
To Be Signed By	Candidate or Authorize	ed Committee
O / / / 9	Signature	<u> </u>
To Be Sign	ed By Station Represen	itative
Accepted	Accepted in Part	Rejected
Signature	CHRIS DIGSRICH Printed Name	ACCOUNT MANAGEN

Donovan Fremin

Advertiser ID: 811

Amount Paid_

811-00003-0000	10/31/2019	1
Official Invoice	Date	Page

DETACH AND RETURN WITH PAYMENT

811-00003-0000

O 10/31/2019

Donovan Fremin State Rep Candidate Dist 55 1426 Tiger Drive Thibodaux, LA 70301

Purchase Order Number:

Est. Number: Co-Op:

Description: week of Oct 7

Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
10/7/2019		1:00	WGUO	11:15:00 AM 04:45:30 PM	12:15:00 PM	12:45:30 PM	01:28:00 PM	02:28:00 PM	6	\$38.00	\$228.00
10/8/2019	Tue	1:00	WGUO	06:45:00 AM 05:15:00 PM	09:15:00 AM	10:45:00 AM	01:45:00 PM	03:28:00 PM	6	\$38.00	\$228.00
10/9/2019	Wed	1:00	wguo	10:15:00 AM 06:15:00 PM	11:15:00 AM	12:28:00 PM	02:28:00 PM	04:45:00 PM	6	\$38.00	\$228.00
10/10/2019	Thu	1:00	WGUO		11:28:00 AM	12:45:00 PM	02:15:00 PM	02:28:00 PM	6	\$38.00	\$228.00
10/11/2019	Fri	1:00	WGUO	10:28:00 AM 01:48:00 PM	10:45:00 AM	12:15:00 PM	12:45:00 PM	01:28:00 PM	6	\$38.00	\$228.00
											_
			^								
			I,					Quantity	I	30 Total	\$1,140.0

Quantity **Total Due** \$1,140.00

Donovan Fremin

Advertiser ID: 811

Amount Paid

10/31/2019	1
Date	Page
	10/07/2017

DETACH AND RETURN WITH PAYMENT

811-00004-0000

O 10/31/2019

Donovan Fremin State Rep Candidate Dist 55 1426 Tiger Drive Thibodaux, LA 70301

Purchase Order Number:

Est. Number:

Co-Op:

Description: Sat Oct 12-original Salesperson: STATION LIST 1, JOE

Date	Day	Length							Qty	Rate	Total
	Sat	1:00	WGUO	06:28:30 AM 09:30:00 AM	07:30:00 AM 02:28:00 PM	08:30:30 AM 03:45:00 PM	08:47:00 AM 04:47:00 PM	09:17:00 AM 06:45:00 PM	10	\$38.00	\$380.00
*											
		·						Quantity		10 Total	\$380.00

\$380.00 Total Due